



# CERTAIN NEW INTEGRAL FORMULAE INVOLVING THE BESSEL-WRIGHT FUNCTION AND TRICOMI FUNCTIONS

Priyanka Srivastava<sup>1</sup> and S. K. Raizada<sup>2</sup>

1. (Research Scholar, Department of Mathematics and Statistics, Dr. Rammanohar Lohia Avadh University Ayodhya, U. P., India)

2. (Professor, Department of Mathematics and Statistics, Dr. Rammanohar Lohia Avadh University Ayodhya, U. P., India)

Corresponding Author: Priyanka Srivastava

**ABSTRACT:** In this paper, using Oberhet-Tinger's integral formula. We have obtained two integral formulae involving the Bessel-Wright Function  $J_n^{(m)}(x)$  introduced by Srivastava and Manocha in the year 1984. The results are given in the form of two Theorems. Two integral formulae for the Tricomi functions defined by Andrews have been obtained as special cases from our two main results.

**KEYWORDS:** Bessel-Wright function, Tricomi functions, Generalized Wright Hypergeometric function and Oberhet-Tinger integral formula.

Received 14 Jan., 2023; Revised 28 Jan., 2023; Accepted 30 Jan., 2023 © The author(s) 2023.

Published with open access at [www.questjournals.org](http://www.questjournals.org)

## I. INTRODUCTION AND PRELIMINARIES

A remarkably large number of integral formulae involving a variety of Special functions have been developed by many authors [2], [3], [4], [5] and [7].

The Bessel-Wright function is defined by Srivastava and Manocha, [10] as:

$$J_n^m(x) = \sum_{k=0}^{\infty} \frac{(-1)^k x^k}{k! (n + mk)!} \quad (1.1)$$

For  $m=1$ , the function  $J_n^m(x)$  given in (1.1) reduces to the  $n^{\text{th}}$  order Tricomi function  $C_n(x)$  is defined by Andrews, [1] as:

$$C_n(x) = \sum_{r=0}^{\infty} \frac{(-1)^r x^r}{r! (n + r)!} \quad (1.2)$$

The Generalized Wright Hypergeometric function [9, Eq<sup>n</sup> no. 38, Pg. no. 21]  ${}_p\Psi_q$  is given as:

$${}_p\Psi_q \left[ \begin{matrix} (\alpha_1, A_1), \dots, (\alpha_p, A_p); \\ (\beta_1, B_1), \dots, (\beta_q, B_q); \end{matrix} z \right] = \sum_{k=0}^{\infty} \frac{\prod_{j=1}^p \Gamma(\alpha_j + A_j k) z^k}{\prod_{j=1}^q \Gamma(\beta_j + B_j k) k!} \quad (1.3)$$

where the coefficients  $A_1, \dots, A_p$  and  $B_1, \dots, B_q$  are real positive numbers such that:

$$1 + \sum_{j=1}^q B_j - \sum_{j=1}^p A_j \geq 0 \tag{1.4}$$

A special case of (1.3) is given by:

$${}_p\Psi_q \left[ \begin{matrix} (\alpha_1, 1), \dots, (\alpha_p, 1); \\ (\beta_1, 1), \dots, (\beta_q, 1); \end{matrix} z \right] = \sum_{l=0}^{\infty} \frac{\prod_{j=1}^p \Gamma(\alpha_j)}{\prod_{j=1}^q \Gamma(\beta_j)} {}_pF_q \left[ \begin{matrix} \alpha_1, \dots, \alpha_p; \\ \beta_1, \dots, \beta_q; \end{matrix} z \right], \tag{1.5}$$

where  ${}_pF_q$  is the Generalized Hypergeometric Function [11] defined by:

$${}_pF_q \left[ \begin{matrix} \alpha_1, \dots, \alpha_p; \\ \beta_1, \dots, \beta_q; \end{matrix} z \right] = \sum_{n=0}^{\infty} \frac{(\alpha_1)_n, \dots, (\alpha_p)_n z^n}{(\beta_1)_n, \dots, (\beta_q)_n n!} \tag{1.6}$$

where  $(\lambda)_n$ ,  $(\lambda \in \mathbb{C})$  is the Pochhammer symbol [8] defined:

$$(\lambda)_n = \begin{cases} \lambda(\lambda + 1) \dots (\lambda + n + 1) & n \geq 1, \\ 1 & (\lambda)_0 = 1 \end{cases} \tag{1.7}$$

$$= \frac{\Gamma(\lambda + n)}{\Gamma(\lambda)}$$

For our present investigation, we also need the following Oberhet-Tinger’s integral formula [6]:

$$\int_0^{\infty} x^{\mu-1} (x + a + \sqrt{x^2 + 2ax})^{-\lambda} dx = 2 \lambda a^{-\lambda} \left(\frac{a}{2}\right)^{\mu} \frac{\Gamma(2\mu)\Gamma(\lambda - \mu)}{\Gamma(1 + \lambda + \mu)},$$

Provided  $(0 < \Re(\mu) < R(\lambda))$ .

(1.8)

In the present note, we have established two Integral formulae for the Bessel-Wright function  $J_n^{(m)}(x)$  which are represented in terms of the Generalized Wright Hypergeometric function  ${}_p\Psi_q$ . We have also obtained two integral formulae for Tricomi functions in terms of  ${}_2\Psi_3$ .

## II. MAIN RESULTS

In this section, we will establish two generalized integral formulae for the Generalized Bessel-Wright function  $J_n^{(m)}(x)$ , which are expressed in terms of the Generalized Wright Hypergeometric function  ${}_p\Psi_q$ :

**Theorem I.** *The following result has been obtained:*

$$\int_0^{\infty} x^{\mu-1} (x + a + \sqrt{x^2 + 2ax})^{-\lambda} J_\nu^{(m)} \left( \frac{y}{x + a + \sqrt{x^2 + 2ax}} \right) dx$$

$$= 2^{1-\mu} a^{-\lambda-\nu+\mu} \Gamma(2\mu)$$

$$\times {}_2\Psi_3 \left[ \begin{matrix} (\lambda + \nu - \mu, 2), (1 + \lambda + \nu, 2); \\ (\nu + 1, m), (\lambda + \nu, 2), (1 + \lambda + \nu + \mu, 2); \end{matrix} -\frac{y}{a^2} \right], \tag{2.1}$$

where:

for  $(x > 0; \lambda, \mu, \nu \in \mathbb{C}$  with  $\Re(\nu) > -1$  and  $0 < \Re(\mu) < R(\lambda + \nu)$ ).

**Proof:** Denoting the left-hand side of equation (2.1) by I and replacing  $\lambda$  by  $(\lambda + \nu + 2k)$  we get:

$$\begin{aligned}
 I &= \int_0^\infty x^{\mu-1} (x + a + \sqrt{x^2 + 2ax})^{-(\lambda+\nu+2k)} J_\nu^{(m)} \left( \frac{y}{x + a + \sqrt{x^2 + 2ax}} \right) dx \\
 &= 2(\lambda + \nu + 2\kappa) a^{-(\lambda+\nu+2\kappa)} \left(\frac{a}{2}\right)^\mu \frac{\Gamma(2\mu) \Gamma(\lambda + \nu + 2\kappa - \mu)}{\Gamma(1 + \lambda + \nu + 2\kappa + \mu)} \\
 &\quad \times \sum_{\kappa=0}^\infty \frac{(-1)^\kappa y^\kappa}{\kappa! \Gamma(\nu + m\kappa + 1)} \quad \text{\{using (1.1) \& (1.8)\}} \\
 &= 2^{1-\mu} a^{-\lambda-\nu+\mu} \Gamma(2\mu) \sum_{\kappa=0}^\infty \frac{(-1)^\kappa \Gamma(\lambda + \nu + 2\kappa - \mu) \Gamma(\lambda + \nu + 2\kappa + 1)}{\kappa! \Gamma(\nu + m\kappa + 1) \Gamma(1 + \lambda + \nu + 2\kappa + \mu) \Gamma(\lambda + \nu + 2\kappa)} \left(\frac{y}{a^2}\right)^\kappa, \\
 &\quad = 2^{1-\mu} a^{-\lambda-\nu+\mu} \Gamma(2\mu) \\
 &\quad \times {}_2\Psi_3 \left[ \begin{matrix} (\lambda + \nu - \mu, 2), (1 + \lambda + \nu, 2); \\ (\nu + 1, m), (\lambda + \nu, 2), (1 + \lambda + \nu + \mu, 2); \end{matrix} \right. \left. -\frac{y}{a^2} \right], \quad \text{\{using (1.3)\}}
 \end{aligned}$$

which is the right-hand side of (2.1), i.e. the desired result.

**Theorem II.** The following result has been obtained:

$$\begin{aligned}
 &\int_0^\infty x^{\mu-1} (x + a + \sqrt{x^2 + 2ax})^{-\lambda} J_\nu^{(m)} \left( \frac{xy}{x + a + \sqrt{x^2 + 2ax}} \right) dx \\
 &\quad = 2^{1-\mu-\nu} a^{\mu-\lambda} \Gamma(\lambda - \mu) \\
 &\quad \times {}_2\Psi_3 \left[ \begin{matrix} (2\mu + 2\nu, 4), (\lambda + \nu + 1, 2); \\ (\nu + 1, m), (\lambda + \mu + 2\nu, 4), (\lambda + \nu, 2); \end{matrix} \right. \left. -\frac{y}{4} \right], \quad (2.2)
 \end{aligned}$$

where:

for  $(x > 0; \lambda, \mu, \nu \in \mathbb{C}$  with  $\Re(\nu) > -1$  and  $0 < \Re(\mu) < R(\lambda + \nu)$ ).

**Proof:** Denoting the left-hand side of equation (2.3) by  $I_1$  and replacing  $\lambda$  by  $(\lambda + \nu + 2k)$  and  $\mu$  by  $(\mu + \nu + 2k)$  we get:

$$\begin{aligned}
 I_1 &= \int_0^\infty x^{(\mu+\nu+2\kappa)-1} (x + a + \sqrt{x^2 + 2ax})^{-(\lambda+\nu+2\kappa)} J_\nu^{(m)} \left( \frac{xy}{x + a + \sqrt{x^2 + 2ax}} \right) dx \\
 &= 2(\lambda + \nu + 2\kappa) a^{-(\lambda+\nu+2\kappa)} \left(\frac{a}{2}\right)^{\mu+\nu+2\kappa} \frac{\Gamma(2\mu + 2\nu + 4\kappa) \Gamma(\lambda - \mu)}{\Gamma(1 + \lambda + \mu + 2\nu + 4\kappa)} \\
 &\quad \times \sum_{\kappa=0}^\infty \frac{(-1)^\kappa y^\kappa}{\kappa! \Gamma(\nu + m\kappa + 1)} \quad \text{\{using (1.1) \& (1.8)\}}
 \end{aligned}$$

$$\begin{aligned}
 &= 2^{1-\mu-\nu} a^{\mu-\lambda} \Gamma(\lambda - \mu) \\
 &\quad \times \sum_{\kappa=0}^{\infty} \frac{(-1)^\kappa \Gamma(2\mu + 2\nu + 4\kappa) \Gamma(\lambda + \nu + 2\kappa + 1)}{\Gamma(\nu + m\kappa + 1) \Gamma(1 + \lambda + 2\nu + 4\kappa) \Gamma(\lambda + \nu + 2\kappa)} \left(\frac{y}{4}\right)^\kappa \\
 &= 2^{1-\mu-\nu} a^{\mu-\lambda} \Gamma(\lambda - \mu) \\
 &\quad \times {}_2\Psi_3 \left[ \begin{matrix} (2\mu + 2\nu, 4), (\lambda + \nu + 1, 2); \\ (\nu + 1, m), (\lambda + \mu + 2\nu, 4), (\lambda + \nu, 2); \end{matrix} \right]_{-\frac{y}{4}}, \{using (1.3)\}
 \end{aligned}$$

which is the right-hand side of (2.2), i.e. the desired result.

### III. SPECIAL CASES

For  $m=1$ , Theorem I and Theorem II reduce to the integrals for Tricomi functions  $C_\nu(x)$  [1] given respectively as:

I.

$$\begin{aligned}
 &\int_0^\infty x^{\mu-1} (x + a + \sqrt{x^2 + 2ax})^{-\lambda} C_\nu \left( \frac{y}{x + a + \sqrt{x^2 + 2ax}} \right) dx \\
 &= 2^{1-\mu} a^{\mu-\lambda-\nu} \Gamma(2\mu) \\
 &\quad \times {}_2\Psi_3 \left[ \begin{matrix} (\lambda + \nu - \mu, 2), (1 + \lambda + \nu, 2); \\ (\nu + 1, 1), (1 + \lambda + \nu + \mu, 2), (\lambda + \nu, 2); \end{matrix} \right]_{-\frac{y}{a^2}} \tag{3.1}
 \end{aligned}$$

II.

$$\begin{aligned}
 &\int_0^\infty x^{\mu-1} (x + a + \sqrt{x^2 + 2ax})^{-\lambda} C_\nu \left( \frac{xy}{x + a + \sqrt{x^2 + 2ax}} \right) dx \\
 &= 2^{1-\mu-\nu} a^{\mu-\lambda} \Gamma(\lambda - \mu) \\
 &\quad \times {}_2\Psi_3 \left[ \begin{matrix} (2\mu + 2\nu, 4), (1 + \lambda + \nu, 2); \\ (\nu + 1, 1), (1 + \lambda + \mu + 2\nu, 4), (\lambda + \nu, 2); \end{matrix} \right]_{-\frac{y}{4}} \tag{3.2}
 \end{aligned}$$

**Proof of (3.1):** Denoting the left-hand side of equation (3.1) by  $I_2$  and replacing  $\lambda$  by  $(\lambda + \nu + 2k)$  we get:

$$\begin{aligned}
 I_2 &= \int_0^\infty x^{\mu-1} (x + a + \sqrt{x^2 + 2ax})^{-(\lambda+\nu+2k)} C_\nu \left( \frac{y}{x + a + \sqrt{x^2 + 2ax}} \right) dx \\
 &= 2 (\lambda + \nu + 2k) \left(\frac{a}{2}\right)^\mu a^{-(\lambda+\nu+2k)} \frac{\Gamma(2\mu) \Gamma(\lambda + \nu + 2k - \mu)}{\Gamma(1 + \lambda + \nu + 2k + \mu)}
 \end{aligned}$$

$$\begin{aligned}
 & \times \sum_{\kappa=0}^{\infty} \frac{(-1)^{\kappa} y^{\kappa}}{\kappa! \Gamma(\nu + \kappa + 1)} \quad \{\text{using (1.2) \& (1.8)}\} \\
 & = 2^{1-\mu} a^{\mu-\lambda-\nu} \Gamma 2\mu \sum_{\kappa=0}^{\infty} \frac{(-1)^{\kappa} \Gamma(\lambda + \nu + 2\kappa + 1) \Gamma(\lambda + \nu + 2\kappa - \mu)}{\kappa! \Gamma(\nu + \kappa + 1) \Gamma(\lambda + \nu + 2\kappa) \Gamma(1 + \lambda + \nu + 2\kappa + \mu)} \left(\frac{y}{a^2}\right)^{\kappa} \\
 & = 2^{1-\mu} a^{\mu-\lambda-\nu} \Gamma 2\mu \\
 & \times {}_2\Psi_3 \left[ \begin{matrix} (\lambda + \nu - \mu, 2), (1 + \lambda + \nu, 2); \\ (\nu + 1, 1), (1 + \lambda + \nu + \mu, 2), (\lambda + \nu, 2); \end{matrix} -\frac{y}{a^2} \right], \quad \{\text{using (1.3)}\}
 \end{aligned}$$

which is the right-hand side of (3.1), i.e. the desired result.

**Proof of (3.2):** Using (1.2) and (1.8) and replacing  $\lambda$  by  $(\lambda + \nu + 2k)$  and  $\mu$  by  $(\mu + \nu + 2k)$ , on the left-hand side of (3.2) and then (1.3) and after simple calculation, as in the proof of (3.1) we get the right-hand side of (3.2), i.e. the desired result.

### REFERENCES

- [1] Andrew, L. Special Functions for Engineers and Applied Mathematicians. Macmillan Co., New York, 1985.
- [2] Brychkov, Y. A., Handbook of Special Functions, Derivatives, Integrals, Series and Other Formulas, CRC Press, Taylor & Francis Group, Boca Raton, London, and New York, 2008.
- [3] Choi, J. and Agarwal, P., Certain unified integrals associated with Bessel functions, Bound. Value Probl, 2013. 2013(95): p. 9.
- [4] Choi, J., Hasanov, A., Srivastava, H. M., and Turaev, M., Integral representations for Srivastava's Triple hypergeometric functions, Taiwanese J. Math., 2011. 15(6): p. 2751–2762.
- [5] Choi, J. and Agarwal, P., Certain new integral formulas involving the generalized Bessel Functions, 2014. 4:p. 995-1003.
- [6] F. Oberhettinger, Tables of Mellin Transforms, Springer-Verlag, New York, 1974.
- [7] Garg, M. and Mittal, S., On a new unified integral, Proc. Indian Acad. Sci. Math. Sci., 2004. 114(2): p. 99–101.
- [8] Rainville, E. D., Special Functions, The Macmillan Company, New York, 1960.
- [9] Srivastava, H. M. and Karlsson, P. W., Multi Gaussian Hypergeometric Series, Halsted Press (Ellis Horwood Limited, Chichester), John Wiley and Sons, New York, 1985.
- [10] Srivastava H. M and Manocha H. L, A treatise on generating functions, Hasted Press(Ellis Horwood Limited, Chichester), John Wiley and Sons, New York, 1984.
- [11] Srivastava, H. M., Choi, J., Zeta and q-Zeta Functions and Associated Series and integrals, Elsevier Science Publishers, Amsterdam, London, and New York, 2012.